(RATIONAL

KaTanor sanacHbIX yacrteu

SelfCookingCenter® whitefficiency®
SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

CD-Ges_101207
©Copyright by RATIONAL Technical Service
All Rights reserved

07.02.2012
1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

SelfCookingCenter® whitefficiency®

2 07.02.2012
1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

SelfCookingCenter® whitefficiency®

Mos. ApTUKYn OnucaHue Kon-Bo
MaHernb ynpaBneHus
OnekTpoycTaHoBKa

KoHTponb BnaxHocTtu ClimaPlus
MaporeHepaTop

T3OHbI pabouyen kamepbl

MoTop 1 KpblnbyaTka BEHTUNATOPa
Pabouas kamepa

[Bepb

BHewwHun kopnyc

© 0o N o o0 WODN -

U L U U I UL U UL UL U U UL UL UL U

10 Nopaya BoAbl

11 Cuctema CleanJet + Care

12 Yactu rasa

13 CTaHpapTHbIN akccecyap

07.02.2012 3

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

NMNaHenb ynpaBneHus

4 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

NMaHenb ynpaBneHus

Mos. ApTUKYn OnucaHue Kon-Bo
1 87.01.005 BcTaBka naHenu ynpasneHus c gekopaTuBHOW Haknagkon *RAT* 1
2 42.00.112 MNnata gucnnesa TFT 1
3 42.00.081 MnaTa untepdgenca A1 1
4 40.03.467 Kabenb "koHTakTOp - nnata uHtepdenca A1" 1
5 40.03.515 Kabenb gaHHbIX "nnaTta nHtepdgenca A1 - gucnnen TFT 1
6 40.03.516 Kabenb gaHHbIX "nnaTta nHtepdgeica A1 - npoueccop” 1
7 16.02.062 PykosiTka gucka Habopa 1
9 40.00.404 "eHepaToOp UMNyNbLCOB 1
12 16.01.910 Kpbillka nnaTbl ynpaBneHns ¢ ynroTHEHNEM 1
13 16.01.908 Kpomka ynnoTHeHus BCTaBkM naHenu 1
07.02.2012 5

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

AnNeKTpoyCcTaHOBKA

6 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

(RATUQNAL)

G62SH1112

AnNeKTpoyCcTaHOBKA

Mos. ApTUKYn OnucaHue Kon-Bo
8 40.03.661 Koxyx BeHTUnsaTopa 1
9 40.03.428 BeHTnnatop oxnaxgeHus 1
10 40.03.257 KoneepTep 230B AC 24B DC 1
16 42.00.160 lMnata ynpaBneHus 1
17 42.00.128 SD-kapTa namsitn 4 I'6 1
18 40.04.000 MoHTaxHoe ocHoBaHue nnaThbl 1
19 10.00.989 3aknenka ¢ BUHTOM 2
20 10.00.243 lMpoctaBo4vHas BTynka M4x8 1
21 1104.0121 Camo3saxunmHas wecturpaHHas ravika M4 2
22 40.03.756 dukcatop nnatbl ynpaBneHns 1
23 40.03.533 dukcaTop nnatbl ynpasneHus 4
24 40.03.995 Kabenb WunHbI nepegayn gaHHbix 0.85 m 1
25 40.03.995 Kabenb WunHbI nepegayn gaHHbix 0.85 m 1
31 40.00.320 KabenbHas mydpTa M20x1.5 1
35 40.04.034 Ounnamuk K 64 WPT 1
36 40.01.596 KabGenb nutaHua 3x2,5mm? 3m 1
37 40.03.526 Kpenex koHBepTepa 1
A ArperaT KOHTaKTopa 1
07.02.2012 7

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

AnNeKTpoyCcTaHOBKA

44

1
‘,_ 1l

19

8 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

(RATUQNAL)

G62SH1112

AnNeKTpoyCcTaHOBKA

Mos. ApTUKYn OnucaHue Kon-Bo
1 40.03.360 Contactor assembly 1
6 40.03.452 XKryT kabens ynpasneHus 1
8 40.02.515 ABapuinHbI TepmocTaTt naporeHepartopa 315°F/157°C 1
9 3014.0302 LWecTturpaHHas rarika M10 onsa aBapunHoro TepmocrtaTta 1
10 40.01.482 ABapuiHbIZ TepMocTaT paboyel kamepbl 365°C 1
11 3014.0327 LWecTturpaHHas rarika M10x1,0 1
12 40.03.761 KonTtakTtop 3TG1010-3AK2 1
17 40.03.348 TpaHccpopmaTop T1 1
18 10.01.065 LWecTturpaHHas ravika M5 1
19 40.03.404 KpenexHasi onopa TpaHcdopmaTopa 1
20 10.01.065 LWecTturpaHHas ranka M5 1
21 40.01.483 PUNbTP BNEKTPOLLYMOB 1
22 40.01.579 dukcaTop nnaTbl ynpaBneHust 4
25 4001.0224 MpenoxpaHuTernb 6.35x32MMm 2
26 40.02.512 BcTaBkogepxaTerb 2MontocHbIN 1
29 10.00.365 BuHT ¢ nnocko-Bbinykrion ronoskon Torx M3x20 2
07.02.2012 9

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

KoHTponb BnaxHoctu ClimaPlus

10 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG [RMM]

G62SH1112

KoHTponb BnaxHoctu ClimaPlus

Mos. ApTUKYn OnucaHue Kon-Bo
1 22.00.882 Kpenex gatyvka gaBneHus 1
2 3017.1011 Hatuvk gaBneHns perynaropa snaxHocty Huba 401 1
4 22.00.850 BHewHun natpybok gatunka gudpdepeHumanbHOro gaBneHms 1
5 22.00.881 YnnoTtHeHne naTpybka 1
6 1104.0122 LWecTturpaHHas komMbuHupoBaHHas ranka M4 3
7 22.00.525 KoMnnekT wnaHros gatymka anddepeHuymnansHoro gasneHns 1
8 22.00.725 KnanaH koHTpons BnaxHocTu B c6ope 1
9 22.00.914 Tpyb6a Bo3gyxoBoaa 1
10 22.00.959 LLinaHr cToka Ang ynpasneHnst BNaXHOCTU 1
11 2066.0527 XomyT g14mm 2
12 22.00.767 KpblLKa BEHTUNALNOHHOIO OTBEPCTUS 1
13 22.00.837 YRNOTHUTENBHOE KOMbLO KnanaHa KOHTPOS BNaXXHOCTH 2
15 10.00.111 KabenbHbI 3a)KUM ANUHHBLIN 2
07.02.2012 11

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

NMaporeHepatop

12 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

(RATUQNAL)

0
A NN N 2 A NN A2 A aAa NN =2 NN A A aa N2 DNNDNDNWA2Q a >N PN -2 Do

G62SH1112

NMaporeHepatop

Mos. ApTUKYn OnucaHue Kon-
1 44.00.940 MaporeHepaTtop ¢ Tennonsonaunen

2 10.00.709 LecturpaHHas ranka M6 c 6ypTukom

3 72.00.082 openka naporeHepaTopa

4 72.00.077 M3onauusa ropenky naporeHeparopa

5 1104.0122 LWecTturpaHHas kombuHupoBaHHas ranka M4

6 70.00.567 Tpy6a ropenku

7 72.00.067 YNrOTHEHNE KPOHLUTENHA rOpPEnku

8 1105.0121 LWecturpaHHas ravika MS ¢ ranbBaHN4eCKUM NOKPbITUEM
9 1105.0120 LWecTturpaHHas ravika M5

10 1205.0120 LWanba-rposep A5,3

11 44.01.218 ONeKTpoa 3aXuraHus roperiku naporeHepartopa
12 1104.0120 LWecTturpaHHas ranka M4

13 44.00.250 YNnoTHEHWE 3MneKTpoaa 3aXKuraHus

19 2066.0519 XomyT 35,6MMm

20 2066.0526 XomyT g46mm

21 44.00.207 Hacoc naporeHepatopa

22 1006.0762 BuHT ¢ wecTturpaHHow ronoskov M6x10

23 1306.0222 Lanba A6,4x15x1,5

24 44.01.238 Kpenex Hacoca naporeHeparopa

25 10.00.709 LecTturpaHHas ravika M6 ¢ 6ypTmkom

26 44.01.241 CniMBHOM WINaHr naporeHepartopa

27 40.04.108 Tepmonapa naporeHepaTopa *B5*

28 44.00.516 Kpenex TepmocTtaTta naporeHepartopa

31 2112.1006 LWnaHr nogaym napa 50x7mm

32 2066.0504 XomyT 40-60mMM

33 44.01.135 Maponposoa

37 44.00.253 OneKkTpoa ypoBHSA BoAbl 85MM

38 44.01.168 KpenexHbiln yronok naporeHepaTopa

43 2066.0518 XomyT 30MM

A 8354.1320 "opnoBuMHa coegMHeHUsa Hacoca B cbope
07.02.2012 13

1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

(RATUQNAL)

rOpnOBVIHa coeaunHeHUsA Hacoca

14

07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

rOpnOBVIHa coeauMHeHUsA Hacoca

Mos. ApTUKYn OnucaHue Kon-Bo
1 2118.1000 ["opnoBMHa coegMHeHnsa Hacoca 1
2 2120.1259 3arnywka 10mMm 1
3 2110.1008 CwvnukoHoBas Tpybka @10x2mm 1
4 2066.0527 XomyT g14mm 2
5 2066.0530 XomyT @16.4mm 1
6 2062.0331 CoeanHuTenbHbIN WNaHr Bbicokoro gasnenuns GS 10 1
7 4005.0101 MnactukoBas 3actexka 145 mm 1
07.02.2012 15

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

TOHbI paboyen kKamepbl

16 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

TOHbI paboyen kKamepbl

Mos. ApTUKYn OnucaHue Kon-Bo
8 74.00.724 TennoobmeHHWK paboyen kamepsbl 1
10 74.00.869 YnnotHeHne TennoobmeHHWKa 1 paboyen kamepon 2
11 74.00.868 KoHTpdnaHey TennoobmeHHuKa 2
12 74.00.296 YnnoTHeHne TennoobMeHHUKa HUXHee 2
13 10.01.065 LecTturpaHHas rarka M5 12
14 10.01.065 LWecTturpaHHas ranika M5 8
17 50.00.844 dopcyHKa yBrnaxHeHus 1
18 50.00.846 "CoeauHutenbHas ranka M12x13.2 N 1
A 74.00.791 "openka paboyer kamepbl 1
07.02.2012 17

1NAC230 V 50/60Hz



(RATIONAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

Fopenka pabo4yen Kamepbl

18 07.02.2012
1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

Fopenka pabo4yen Kamepbl

Mos. ApTUKYn OnucaHue Kon-Bo
74.00.034 ONeKTpoA 3aXMraHnsa roperiku naporeHeparopa 1
74.00.873 OnekTpoa 3a3emMreHus ang ropenku pab. kamepbl 1
74.00.290 YNnoTHeHne anekTpoga ropenku paboyen kamepsbl 1
BuHT C BHYTpeHHUM wecTurpaHHukom M4x6 A2 1ISO 7380,
4 10.00.696 npegsapuTeribHO rPYHTO 4
07.02.2012 19

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

MoTop 1 KpbinibYaTKa BeHTUNATOpA

20 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

MoTop 1 KpbinibYyaTKa BeHTUNATOpA

Mos. ApTUKYn OnucaHue Kon-Bo
1 40.03.513 MoTop BeHTunATOpa 1
3 10.01.049 BonT ¢ rpnboBMAaHONM roNOBKOM 1 KBagpaTHON wwerikon 6x30 4
4 10.00.709 LWecturpaHHas ravika M6 c 6ypTmkom 2
5 22.00.721 dnaHey canbHWKa Bana motopa 1
6 22.00.722 MpunémHas cTonka canbHUKa 1
7 22.00.083 CanbHuK Bana motopa 1
8 20.01.755 M3onauusa ong MOHTaXXHOM MnacTuUHbLI MOTOpa 1
9 10.01.065 LWecTturpaHHas ravika M5 3
10 22.00.829 KpbinbyaTka BeHTUNSATOpPA 1
11 10.00.565 BuHT ¢ wecturpanHon ronoskon M8x20 1
12 1308.0162 LWanba A8,4 1
13 10.00.112 KabGenbHbIl 3a)KuM KOPOTKUIA 1
14 20.01.411 BTynka ons MOHTa)XHOW nriaHku MoTopa 4
07.02.2012 21

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

Pabouan kamepa

—

22 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

Pabouan kamepa

Mos. ApTUKYn OnucaHue Kon-Bo
1 40.00.290 Tepmonapa perynsitopa BNaxHocTu 1
2 10.00.087 [MpwxrMMHas nnaHka gartyuka 1
3 10.00.100 Camo3saxumHas wecturpaHHas ravka M4 1
7 40.04.114 OrnekTponpoBoaka BHyTPEHHEr0 OCBELLEHMS 1
8 40.00.098 OTpaxaTenb BHYTPEHHEro OCBELLEeHNs 1
9 40.00.091 YcTaHOBOYHAsi paMka CO CTEKIIOM U YNNOTHEHUAMM 1
10 3024.0201 "anoreHoBasi namna paboyen kamepbl 300°C 1
11 20.01.801 YnnoTHeHne aBepu 1
12 40.04.098 TepmokepH 1
13 10.00.612 LecturpaHHas ravka M16, nnockas 1
14 1315.0104 LWan6a megHan 16x20x1,5 1
16 40.01.317 OKpaH gatyuka TemnepaTtypbl cepaueBuHbI 1
17 10.01.076 HakuaHas rarika M5*A2 2
20 40.04.096 Tepmonapa pabo4yen kamepbl B1 1
21 40.03.782 3awmTHaga nnactuHa Tepmonapbl paboyer kKamepbl 1
22 10.01.076 HakuaHas ranika M5*A2 2
23 54.01.117 CnuBHas pelueTtka 1
24 40.01.482 ABapuinHbI TepmocTat paboyen kamepbl 365°C 1
25 3014.0327 LWecTturpaHHas rarika M10x1,0 1
A 22.00.743 3aBuxputenb 1
07.02.2012 23

1NAC230 V 50/60Hz



S

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

3aBuxpuTtenb

0y
74

1

=
=
é,

07.02.2012
1NAC230 V 50/60Hz

24



SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

(RATUQNAL)

3aBuxpuTernb

Mos. ApTUKYn OnucaHue Kon-Bo
1 22.00.836 BcackiBatoLee KonbLo 3aBuxpuTens 1
3 10.00.515 3aknenka 3.2x5 A4 6
7 40.03.780 dukcaTop kKabenst TepMokepHa 1
8 22.00.491 Tpybka onsa TepmokepHa 1
9 2760.1370 durkcaTop BO3OYLLUHOW NEPeropoakm 2
10 1604.0167 3aknenka 4x10 3
11 22.00.361 BbITsbkka 3aBmxpuTens 1
12 10.00.515 3aknenka 3.2x5 A4 4
13 10.00.744 LWanba A4,3 *A4 1
07.02.2012 25

1NAC230 V 50/60Hz



(RATIONAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

OBepb

26 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

(RATUQNAL)

G62SH1112

OBepb

Mos. ApTUKYn OnucaHue Kon-Bo
1 24.00.152 PykosaTka osepu 1
2 24.00.176 [iBepHON 3aMOK 1
6 24.00.504 Kpbllwka 3amka 1
8 24.00.133 BepxHuin KpOHLWWITENH ABEpU 1
9 1008.0768 [ekopaTnBHbI BUHT M8x16 3
11 24.00.223 HWKHUI KPOHLWITENH OBepu 1
12 1006.1962 BuHT ¢ notanHom ronoskon Torx M6x16 2
14 24.00.137 Ocb aBepu 1
15 10.00.099 BuHT ¢ wecTturpaHHow ronoskov M8x12 1
16 1308.0160 Lanba A8,4 1
17 24.00.048 Ocb goBepHas 1
18 1008.0769 [ekopaTnBHbIi BUHT M8x30 1
20 2001.0109 MpyxnHa cxaTtus 1
21 24.00.141 KpoHLITENH 3aLLenku aBepu 1
22 1006.0760 BUWHT ¢ wecturpaHHon rorioskon M6x16 2
24 24.00.142 3awenka 1
25 1005.2000 CronopHbIn 3yb4yaTbii BUHT M5x8 1
27 24.01.100 MpyxuHHas ckoba gBepHOro 3amka 1
A 24.00.105 Osepb 1
07.02.2012 27

1NAC230 V 50/60Hz



(RATIONAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

OBepb

28 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

(RATUQNAL)

G62SH1112

OBepb

Mos. ApTUKYn OnucaHue Kon-Bo
1 24.00.198 BHyTpeHHee cTekrno Asepu 1
2 24.00.147 BTyrnka BepxHein ocu asepu 1
3 24.00.146 YcTaHoBOYHasi OCb ABEpU 1
4 24.00.502 dukcaTop MarHmiTa 1
5 24.01.188 BHyTpeHHsi1 TpyGKka CToka KoHAeHcaTa ABepu 1
6 24.01.801 Door drip collector 1
9 24.00.171 CwvnukoHoBbIN Bydep 7MM 1
10 1005.1966 BuHT ¢ notanHom ronoskon Torx M5x16 2
11 10.00.041 3aknenoyHas ravka M5 2
07.02.2012 29

1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

(RATUQNAL)

BHewHUn Kopnyc

EI=LI

=

_

t—

30

07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

(RATUQNAL)

BHewHUn Kopnyc

Mos. ApTUKYn OnucaHue Kon-Bo
1 1104.0820 dukenpyrowas ranka 4,2mv 3
2 1110.0800 KapkacHas ranka M10 3
3 12.00.205 BepxHsist yacTb nogcTaBku 4
4 12.01.133 HwxHaa YacTb noacTaBku 4
6 10.00.975 BuWHT ¢ wecturpaHHon ronoekon M10x35 4
7 12.00.516 Turning lock f. lower part of pedestal 4
8 10.00.745 "anka HakmaHasa M6*A2 1
9 1206.0120 LWanba-rpoeep A6,4 1
10 16.01.146 KpOHLITENH JaTyMKa KOHTaKTa ABEPU 1
12 10.01.214 CrtonopHbIv 3ybyatbivi BUHT M5x10 1
13 22.00.767 KpblLKa BEHTUAALNOHHOIO OTBEPCTUS 1
14 16.01.965 MexaHn3M OTKpbITUSI BCTaBKW NaHenu 1
18 40.00.335 [laTunk kOHTaKTa gBepu 1
A Exterior wkad 1
07.02.2012 31

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

BHewHUn Kopnyc

32 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

BHewHUn Kopnyc

Mos. ApTUKYn OnucaHue Kon-Bo
1 16.02.159 BepxHasa naHernb 1
2 1003.2265 CamoHapesHoW BUHT C NoTanHow ronoskow 4,2x16 10
3 1104.0820 dukempytowas ravka 4,2mm 10
4 1004.2160 CamMoHape3HoW BMHT C LECTUrpaHHoM rornoskon 4,2x16 4
5 16.00.146 MpaBas 6okoBas NaHesnb 1
6 1603.0166 3aknenka 3.2x7.9 CNS BbicaxeHHas 4
7 16.00.147 JleBasi 6okoBas naHenb 1
8 10.00.992 CamoHapesHoW LecTUrpaHHbIv BUHT B4,2x32 2
9 1104.0820 dukenpyrowas ranka 4,2mv 2
10 16.01.925 3agHsa naHenb 1
11 16.01.856 MepegHsasn naHenb 1
12 1603.0166 3aknenka 3.2x7.9 CNS BbicaxeHHas 4
15 16.01.511 HwxHaa nepeknagmHa 1
16 1004.2160 CamoHapesHOW BUHT C LUeCTUrpaHHon ronoskon 4,2x16 3
17 1107.0100 KpenexHas wanba g4 5
18 50.00.751 [MnacTnkoBbI KOXYX ONA pyYHOro gyLia ¢ M30NsLUOHHOW NEHTON 1
19 16.00.186 BepxHasa nepeknaguHa 1
20 1603.0166 Baknenka 3.2x7.9 CNS BbicaxeHHas 4
22 16.01.748 YNnoTHeHne BEHTUNAUMOHHOM TPyObl d=63mm 1
24 40.02.684 BoagywHbii ounbTp 1
25 16.00.329 Kpbiwka USB-nHTepdeiica 1
26 10.00.103 Bunt EJOT 3.5x10 1
27 40.04.046 Kabenb nHrepdgenca USB 1.0 m 1
28 10.00.460 BuHt EJOT 3,5x14 2
29 50.00.300 )Kenob ans koHageHcaTa 1
30 50.00.303 BTynka xxenoba koHaeHcaTta 2
31 50.01.192 BopooTtBoaHas Tpyba ¢ BTynkon 1
32 50.00.296 dukcaTop xenoba onst cbopa KoHAeHcaTa 4
33 1107.0100 KpenexHas wainba g4 6
34 56.00.445 Pamka ansa swmka CareControl 1
07.02.2012 33

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

Nopaya BoAbI

34 07.02.2012
1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

Nopaya BoAbI

Mos. ApTUKYn OnucaHue Kon-Bo
1 54.00.739 BeHTUNALUNOHHBIN KOXYX 1
2 54.01.141 Pe3nHOBLIV coeaMHNTENbHBIN NaTPyOOK BEHTUNSALMOHHON TPYOhbl 1
3 2066.0516 XomyTt 60-80MM 2
4 50.00.086 CTonopHas nnaHka pacnpegenurtenst Boabl 1
5 1900.0202 PunbTp rpybon 04MCTKN BOAbI 1
6 2066.0205 XomyT 8-16x9Mmm SW 7Mm 2
8 50.00.313 T-o0pasHbIv WTYyLEep Nogsoaa BOAbI 1
9 50.01.238 KaTywka gywa (He cogepXnTt cBMHeL,) 1
10 50.01.213 CoeaunHntenbHas Tpybka 1
11 50.00.085 MpyxMHa WwTyuepa coeguHeHns KaTyLLKN pyYHOro ayLia 1
12 50.00.130 PyuHown ayw 1
13 50.00.156 dukcaTop pyKoAaTKM gyLua 1
15 1105.0121 LWecTturpaHHas rarika M5 ¢ ranbBaHM4YeCKUM NOKPbITUEM 1
25 54.00.357 CnunBHoOW LWapoBbIN KnanaH 1
27 10.00.449 BuWHT ¢ nnocko-Bbinykron ronoskon Torx M6x16 2
28 10.00.511 YnnoTHMTENbHOE KOMbLO WapoBoro knanaHa 46x3.5 1
29 10.00.512 YnnoTHMTENbHOE KOMbLO LWAapoBOro knanaHa 26x3.5 1
30 54.01.169 Kpbliwka konnekropa ¢ hopCcyHKon 1 Tepmonapon B2 1
31 54.01.168 YNNoTHEHME KPbILWKWN KONmekTopa 1
32 54.01.191 MopaoH 1
33 10.00.745 arika HakngHas M6*A2 1
34 50.01.050 TpexBeHTUIMbHbIA 3NEKTPOMarHUTHbIM KrnanaH 1
35 50.00.071 Pacnpegenutens Bogbl rOpU3oHTanNbHbLIN 1
38 2067.0050 Tpy6ka Bbicokoro gaenexus d10mm 1.04
39 2067.0050 Tpy6ka Bbicokoro gaenexms d10mm 37
41 50.01.523 [aTunk cuctemMbl QUArHOCTUKM YPOBHS HaKuUnm 1
42 2067.0050 Tpy6ka Bbicokoro gaeneHust d10mm .39
47 50.01.146 OAHOBEHTUNMbHbIN 3NEKTPOMAarHUTHbIN Knanax 1
48 50.00.070 Pacnpegenutens Boabl rOPU3OHTanbHbIN 1
49 2067.0050 Tpy6ka Bbicokoro gaeneHus d10mm .39
50 50.00.078 MpaAmoTouHbIN knanaH DW16/DN12 2
51 8354.1304 BbinyckHou knanaH naporeHeparopa 1
52 1900.0202 DunbTp rpybon oumcTkn BoAbl 2
55 2022.0101 YnnoTHUTENbHOE KomnbLo 8MM 1
07.02.2012 35

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

Cuctema Cleandet + Care

36 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

Cuctema CleandJet + Care

Mos. ApTUKYn OnucaHue Kon-Bo
1 56.00.185 Hacoc UP30 1
2 12.00.319 YCTaHOBOYHbIN KOPOO 1
4 56.00.166 LLInaHr BbICOKOro gaBneHnst OMUCTKU 1
5 2066.0518 XomyT 30MM 1
6 2066.0521 XomyT 27MM 1
7 56.00.607 BcacbiBatowmin lunaHr 1
8 2066.0518 XomyT 30MMm 2
11 10.00.980 Bunt EJOT K30x10 4
12 56.00.492 KoHTenHep ymcTawmx cpeacts, nuHua SCC 61-102 1
13 56.00.462 CoeguHnTenbHasa MydTa KOHTENHepa 1 Hacoca Care 1
14 10.00.984 XomyT CLIC d=27.5mm 2
15 56.00.451 Hacoc CareControl DPS 35 1
16 56.00.540 LLnaHr 1 nogaum pacteopa Care 1
17 2066.0518 XomyT 30MM 1
18 40.02.965 MpoBogka kabens, knanaH coneHomaa/CY-nasos 1
19 2067.0164 Tpy6ka Bbicokoro Aasrnenuns @10mMm gnvHa 650mMm 1
20 10.00.873 XomyT CLIC d=15.5mm 1
21 56.00.537 Tpy6a gns LWnaHr pacteopa Care 1
22 10.00.983 XomyT CLIC d=23mm 1
23 56.00.482 LLnaHr 2 nogaumn pacteopa Care 1
24 10.00.605 XomyT 825.3 1
29 56.00.488 JIOTOK KOHTEHepa YMCTALLNX CpeacTB 1
32 56.00.375 Kpbllwka ans Hacoca 1
33 10.01.214 CrtonopHbIv 3ybyatbivi BUHT M5x10 2
35 2067.0050 Tpybka Bbicokoro gaesnexms d10mm .675
07.02.2012 37

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

[a30Bble KOMMNOHEHTbI

38 07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

[a30Bble KOMMNOHEHTbI

A AN 2 A A A A NN R a0 s WWW A NS WN AN

Mos. ApTUKYn OnucaHue Kon-Bo
1 70.00.566 Harnetatens ropenkn NRG118

3 70.00.566 HarHetaTenb ropenkn NRG118

4 10.00.990 BuHT ¢ wecturpanHon ronoekon M5x16 Torx T20

5 70.00.495 dnaHey HarHeTaTtensa ropenkn RG118

6 10.01.065 LWecTturpaHHas rarika M5

7 70.00.497 YNNoTHEHWEe HarHeTaTens ropenkm

9 10.00.065 BuHT ¢ notanHom ronoskon Torx T20 M4x12

12 70.00.637 PacnopHas BTyrika HarHeTaTens roperiku

13 70.00.262 YnnotHuTenbHoe Konbuo 21.89x2.62

14 10.00.068 BuHT c notanHou ronoskoun Torx T20 M4x40

15 10.00.063 BuHT ¢ nnocko-Bbinyknon rosiokon Torx T20 M4x25
16 10.00.063 BUWHT ¢ nnocko-Bbinyknown rosioBkon Torx T20 M4x25
17 10.00.065 BuHT ¢ notarHon ronoskon Torx T20 M4x12

18 70.00.090 "oppupoBaHHbIn WwnaHr 580mMm

19 70.00.552 "oppupoBaHHbIn WwaHr 770 mm

21 10.00.061 BuHT ¢ nnocko-Bbinyknown ronoskon Torx T20 M4x12
22 10.00.063 BuHT ¢ nnocko-Bbinykon ronoskon Torx T20 M4x25
23 70.00.301 Matpybok nogaym Bo3gyxa

24 74.00.308 Pacnpegenutens razonpoeoga 2x3/4"

25 1006.0762 BUWHT ¢ wecturpaHHon rorioskon M6x10

26 1306.0222 Lanba A6,4x15x1,5

27 74.00.883 Bnok aBToMaTU4ECKOro KOHTPOSA 3aXunraHus

29 10.00.062 BuHT ¢ nnocko-Beinykron ronoskon Torx T20 M4x20
32 70.00.513 Bosayxosog @40x450 mm

34 70.00.454 Bosgyxosog 240x600 mm

37 70.00.624 CunukoHoBbIN WnaHr g8x1,6x141mm

38 70.00.623 CunukoHoBbIV wnaHr @8x1,6x115mm

43 70.00.221 Kpenex Bo3gyxosoga 40mMm

A [a3oBbIV knanaH B cbope RH

B "a3oBbIv knanaH B cbope SEP

07.02.2012 39

1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

(RATIONAL)

a30BbIN KnanaH B coope

40

07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

Fa30BbIN KNnanaH B coope

Mos. ApTUKYn OnucaHue Kon-Bo
1 70.00.577 [asoBbIf kNanaH RH 1
2 70.00.255 Kpbiwka ropenkm RG130 1
3 70.00.030 Mopenka RG130 1
4 70.00.580 HarHeTatenbHbI Anck 1
5 70.00.256 ManxxeTa coeguHeHus ropenku n sosgyxosoga RG130 1
07.02.2012 41

1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

(RATIONAL)

a30BbIN KnanaH B coope

42

07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

Fa30BbIN KNnanaH B coope

Mos. ApTUKYn OnucaHue Kon-Bo
1 70.00.576 "asoBbIv knanaH SEP 1
2 70.00.255 Kpbiwka ropenkm RG130 1
3 70.00.030 Mopenka RG130 1
4 70.00.580 HarHeTatenbHbI Anck 1
5 70.00.256 ManxxeTa coeguHeHus ropenku n sosgyxosoga RG130 1
6 70.00.108 MaHxxeTa coeguHeHns ra3oBoro KnanaHa u ropenku 1
7 70.00.261 YnnotHutensHoe Konbuo 17x1.5 1
07.02.2012 43

1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG
G62SH1112

(RATUQNAL)

CtaHpapTHbIM akccecyap

2

"

i

7o

~E

;

44

07.02.2012
1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

(RATUQNAL)

CtaHpapTHbIM akccecyap

Mos. ApTUKYn OnucaHue Kon-Bo
1 60.62.100 Hinging rack left 1
2 60.62.101 Hinging rack right 1
3 60.71.022 [Mo3numMoHupyLLaasa nnaHka TepMoKepHa 1
8 10.01.194 KomnnekTt Hakneek nuHus 1
07.02.2012 45

1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

(RATUQNAL)

G62SH1112

UHpekc

ApTukyn OnucaHue CTtpaHuua
50.00.846 "CoeauHutenbHas rafka M12x13.2 N ... .. 17
40.03.360 Contactor @SSemMbIY ... e 9
24.01.801 Door drip COllECIOr ... 29
60.62.100 Hinging rack left .. ..o 45
60.62.101 HiNnging rack right . ... o 45
42.00.128 SD-KapTa MaMATU 4 [0 .o e e e 7
12.00.516 Turning lock f. lower part of pedestal ... i 31
40.02.515 ABapuiHbIi TepMocTaT naporeHepaTtopa 315°F/157°C ... i 9
40.01.482 ABapuinHbIn TepmMocTaTt pabouden kKamepbl 365°C ... ... ... 9,23
74.00.883 Bnok aBTOMaTUYECKOTO KOHTPOIIS SAKMIAHMST « .o\ v vt et et ee e e e e e e e eeeeieeeaaneens 39
10.01.049 BonT ¢ rpnboBMAaHON rofoOBKOM U KBaApPaTHOM WENKOM 6X30 ..........covviiniininan.... 21
40.03.428 BEHTUMATOP OXITAKOEHUMST ...ttt ittt et et ettt e et e e et ettt et e aa e enanns 7
54.00.739 BEHTUMALMOHHDBIN KOXKYX . ettt ettt et ettt e et ettt e e e et e e e et e e e e et e e e e et eeaeeens 35
24.00.133 BEPXHUN KPOHLUTEMH [BEPM . ..ottt et e et et et e e e et e e et et e e een 27
16.02.159 T =T 01 T I = 1 = T 33
16.00.186 BEPXHAA MEPEKIMAAMHA . ..ottt ettt et e e e e e et 33
12.00.205 BEPXHAA HACTb MOACTABKM ...ttt ettt et e ettt e et et e e et et e e e et eaeeens 31
10.00.460 BUHT EJOT 3,0X T4 e 33
10.00.103 BUHT EJOT B.5XT0 oottt 33
10.00.980 BUHT EJOT KB0XT0 ettt ettt ettt ettt et 37
10.00.696 BWHT ¢ BHYTpEHHUM wecTurpaHHmkom M4x6 A2 ISO 7380, .......coviviiiiii i, 19

npeaBapuTenbHO rPYHTO

10.00.061 BuHT ¢ nnocko-Bbinyknon ronoskon Torx T20 M4x12 ... ... 39
10.00.062 BUWHT ¢ nnocko-BbInyknomn ronoBkor Torx T20 M4x20 . ...... ..o, 39
10.00.365 BUWHT ¢ Nnocko-BbINyKnom rofmloBKOM TOrX M3X20 ... ... 9
10.00.449 BWHT ¢ NNOCKO-BbIMYKITON FOMOBKOM TOrX MBX16 .. ... .. e 35
10.00.063 BUWHT ¢ nnocko-BbINyknomn ronoBkor Torx T20 M4x25 .. ... .. 39
1005.1966 BUHT ¢ notanHom ronoBKoM TOrX MEXT6 ... oo e 29
1006.1962 BUHT ¢ noTtanHom ronoBKOM TOrX MBXT16 ... 27
10.00.065 BUHT ¢ notarHon ronoBkon Torx T20 MAX12 ... .. e 39
10.00.068 BuHT ¢ notanHom ronoBkor Torx T20 M4x40 ... 39
10.00.990 BUWHT ¢ wecTturpaHHom ronoBkon M5x16 Torx T20 ...t 39
46 07.02.2012

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

UHpekc

ApTukyn OnucaHue CTtpaHuua
1006.0762 BUHT ¢ wecturpaHHom rofioBKON MBX10 ... ..o e 13, 39
1006.0760 BUWHT ¢ WwecTturpaHHom rofioBKON MBX16 ... ...t 27
10.00.099 BUWHT ¢ wecturpaHHom roftoBKOM MBX12 .. ... ... 27
10.00.565 BUHT ¢ wecturpaHHOm ronoBKOM M8BX20 . ... ... e 21
10.00.975 BUWHT ¢ wecturpaHHom rofioBKOM MAOX35 ... ... i 31
22.00.850 BHewHun natpybok gatyunka A depeHUManbHOTO AABAEHUS . .. ovw v vee e eaeenaenns 11
24.00.198 BHYTPEHHEE CTEKIO [BEPM . .ottt et et et ettt e et et e et et e e e eae e n 29
24.01.188 BHYTpeHHsIS1 TPyOKa CTOKA KOHOEHCATA ABEPM .. oo veet et teeeeeeeee i eeeeieaeaeennnn 29
50.01.192 BoOOOTBOAHASA TPYBA C BTYITKOM .. v e ieee st e ettt e et e e et e e e e e e eeenes 33
70.00.513 Bo3ayxoBoO B40XA50 MM .. ...ttt e 39
70.00.454 Bo3oyxoBoL @40X600 MM ... ...ttt et 39
40.02.684 BOBOYLLUHBIA O IBTD .ttt ettt ettt et e et e e e e 33
22.00.836 BcachiBaoLLee KOMBLIO 3ABUXPUTEIIS ... vttt ate et ete et eee e eeee e e e eeaeaeneenen 25
56.00.607 BCaAChIBAIOLLIMM LLUITAHT . .\ttt ittt et e et e e e et e e et e et e e e et e e e 37
87.01.005 BcTaBka naHenu ynpaeneHus ¢ gekopaTtuBHOM Haknagkon *RAT* ...................oooel. 5
40.02.512 BcTaBKkoOepKaTENb 2MOTHOCHDBIN . ...ttt et e e et e e et et et e e e e ettt e e eaaas 9
24.00.147 BTYIKa BEPXHEM OCU ABEPM ..ottt ettt e ettt e e e et e 29
20.01.411 BTynka ans MOHTaXHOMN MITAHKN MOTOP@ .. v v et eeeteteteeeeee et aeeeeeeeeieenaneaenens 21
50.00.303 BTYrKa KeN0BA KOHAEGHCATA ...ttt ettt ettt e et e et et e e et ee e eeees 33
8354.1304 BbINYCKHOM KNanaH MNapOrEHEPATOPA . ... een ettt et et et e e e e e e e aea s 35
22.00.361 o T P e TR T= 1= b o = = 25
70.00.577 [a30BbIv KNanaH RH .. ... 41
70.00.576 [asoBbIv KNanaH SEP ... ... 43
10.00.745 FarKka HAKUOHAA MO A . e e e e e 31, 35
3024.0201 ManoreHoBas namna paboyen kamepbl 300°C ... .. ... i 23
40.00.404 [TEHEPATOP UMIMYITBCOB ...\ttt ettt et ettt et et et et et et et ettt et et et e et et e e e e eaenas 5
70.00.030 FOPEmKa RGT30 ..ttt e 41,43
72.00.082 [OpPENKA MAPOTEHEPATOPA .. v ettt etee et et ettt et et et e e et e et et et e e et eaeaeaeaens 13
74.00.791 [[OPENKA PABOUEIN KAMEDPDBI ...ttt ettt ettt e et e et e e et e e e e e e e eeees 17
2118.1000 [TOPNOBUHA COBOUHEHMS HACOCEA ...ttt ettt et at ettt et ettt e e et e et e e eeees 15
8354.1320 [[OpNoBUHA COEANHEHNSA HACOCA B COOPE . ..ottt it i e e et ieaeaens 13
70.00.090 FOOPUPOBaAHHBIN LUAAHT B8OMM ...\ttt e 39
07.02.2012 47

1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

(RATUQNAL)

G62SH1112

UHpekc

ApTukyn OnucaHue CTtpaHuua
70.00.552 [FOPUPOBAHHDBIN LUMAHT 770 MM ...ttt et ettt en 39
3017.1011 HaTtunk gasnenus perynaropa BnaxHoctm Huba 401 ...t 11
40.00.335 JaTUMK KOHTAKTA ABEPM . vttt ettt et et et ettt e e e e et e e e ettt a e 31
50.01.523 JaTtumk cucteMbl AUArHOCTUKM YPOBHS HAKUMM .. o.e ettt e et e e e e e e eaeeen 35
24.00.176 TBEPHOM BAMOK ...ttt ettt ettt ettt et et e e et et e et e e e 27
24.00.105 =TT ) 27
1008.0768 JekopaTuBHBIN BUHT MBXT6G ... ...t een 27
1008.0769 HexkopaTUBHBIN BUHT MBX30 .. ... i ettt 27
40.04.034 OMHAMUK K B4 WV P T e e e 7
40.03.452 HKryT KABENA YIIPABIAEHUS ...ttt ettt e et et et e e et e e e et e e e e ea e 9
50.00.300 YKenoO ANA KOHOEBHCATA ... ..ut ittt ettt ettt et e e e e e e et et 33
22.00.743 B 7= =1 Dq o1 (=11 23
2120.1259 BaMIYLIKA TOMM .t e 15
16.01.925 B FYa =T =T T o R 33
10.00.515 BaKMEMKA 3.2X5 Ad o 25
1603.0166 3aknenka 3.2X7.9 CNS BbICAKEHHAS . . ... eu ettt e et e et eeaeennn 33
1604.0167 BaKNEMKA AXT0 i 25
10.00.989 BAKINEMKA C BUHTOM ..ttt ettt ettt e e et et et ettt et et et et et et e e e e e n e et 7
10.00.041 BaknenodHas ramka MO ... . e 29
24.00.142 B 7= V1Y 3 1 TR 27
40.03.782 3awmTHas nnacTnHa TepMonapbl PAGOHEN KAMEPDI ... .....overeeer e enaananannns 23
72.00.077 N30na0umns ropenikn MaAPOTrEHEPATOPA ..t it eeee et et et e e e e ee et e et e ettt eieieneaeaennn 13
20.01.755 M3onsaumnsa ans MOHTAXKHON MAACTUHBI MOTOP@ . ..outert ittt ee e it eie et aeaeeeananss 21
40.03.467 Kabenb "KOHTAKTOp - NraTa MHTepdenca Al ... .. . e 5
40.03.515 Kabenb gaHHbix "nnaTta uHtepgenca A1 -gucnnen TFT ... o it 5
40.03.516 Kabenb AaHHbIX "nnata nHtepdernca Al - MPOLECCOP" ...t 5
40.04.046 Kabenb nHtepdenca USB 1.0 M ... ... e 33
40.01.596 Kabenb MUTAHMSA 3X2, MM M ..t et e e e e e e i 7
40.03.995 Kabenb WwuHbl nepegaum AaHHbIX 0.85 M ... ..o 7
40.00.320 KabenbHas MydTa M20XT.5 ... e 7
10.00.111 KabBenbHbIN 3AXKUM OITUHHDBIV . ...ttt et e e et et e et e et e e et e e e et e e ie e 11
10.00.112 KabBenbHBIN 3aKUM KOPOTKUM ...ttt e e et ettt e e e e e e e et e e e et e e aeeens 21
48 07.02.2012

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

UHpekc

ApTukyn OnucaHue CTtpaHuua
1110.0800 KapkacHas ramka M0 ... ... 31
50.01.238 KaTylika gyLia (HE COAEPIHKUT CBUHELL) ... u ettt ettt e e et eeeee e ee e aeaeaeenns 35
22.00.725 KnanaH KOHTPOMS BMAXHOCTU B COOPE .. ..ottt i i et ettt eeeaeaens 11
40.03.661 KOMKYX BEHTUIIATOPA . . o ettt ettt et ettt ettt et e ettt e et et e ettt e e e e e e e eaenns 7
10.01.194 KOMMAEKT HAKIMEEK JIMHUST ...ttt ettt et ettt et ettt e e ae s 45
22.00.525 KoMnnekT wnaHroB gatumka anpdepeHUmnanbHOrO OABMEHNS ..o e v e eaieennn. 11
40.03.257 KoHBEPTEP 230B AC 24B Dl ... .ttt e 7
40.03.761 KOHTaKTOP BTG I0M10-3AK ... e e e ettt 9
56.00.492 KoHTenHep unctawmx cpeacts, MMHUA SCC 61-102 .. ... 37
74.00.868 KOHTpMmaHeL, TEMMOOOMEHHMKE .. ..ottt ettt ettt et et e e et e e eaenanaenns 17
70.00.221 Kpenex Bo3OyXOBOAA A0MM ... ...ttt e 39
22.00.882 Kpenex AaTumMKa JaABIIEHUS .. .. ...ttt ittt ettt et et et e e ettt ieneaen, 1
40.03.526 (0T 3 Loy Qo o1 =TT o =T o - 7
44.01.238 KpenexX HaCOCa MaPOTrEHEPATOPA ... v utn ettt et et ettt e et e e e e et e et a e 13
44.00.516 Kpenex TEpMOCTaTa MAPOTEHEPATOPA ...t vttt ettt et et e e e et et e e e et anaaeaenens 13
40.03.404 KpenexHas onopa TPaHCOPMATOPA . ... cutn et e et e e e e e a e e aeaeeaens 9
1107.0100 KPenexHasn WamMbBa @4 . . .......oie ittt et 33
44.01.168 KpeneXHbI YrONOK MAPOTEHEPATOPA .. .vueeeeeeeteneteeeeae et aee e eeetenaanananenenens 13
16.01.908 KpomKa YNNOTHEHMS BCTABKU MAHETIM .« v ettt e e e et e ettt e et e e et e e e eeaeeeeeaenns 5
16.01.146 KPOHLUTENH JATUMKA KOHTAKTA [ABEPM ..ottt ettt et et e e e et et et e e aeeeenes 31
24.00.141 KPOHLUTEMH BALLEITKU LBEPM . . ot ettt et et et et ettt et et e e e e et et e e et e e e enee s 27
22.00.829 KPbITBUATKA BEHTUIIATOPEA .« e it ettt et et et et et et e e et et et et et e e e e et ieneen, 21
16.00.329 KPbILKA USB-UHTEPMIEICE . .. oottt ittt ettt et e et e e e a e aenas 33
22.00.767 KpbILKa BEHTUASLNOHHOTO OTBEPCTUST . v ettt eteteeteeeeeeaeeeeeeeeeenenens 11, 31
70.00.255 Kpbiwka ropenkn RG130 ... e e 41,43
56.00.375 KPBILLKA OJ1S HACOCA . . o vttt ettt e ettt ettt e ettt e et et et et e e e e e e eeees 37
24.00.504 0T = T T= .- T 27
54.01.169 KpblLwka konnekTopa ¢ hOpCyHKOM 1 TepMonapon B2 ...t 35
16.01.910 Kpbilka nnaTbl YAPaBAEHNS C YIFIOTHEHUEM .. ...t et e e e e e e e e aaaeeaens 5
16.00.147 J1EBAS BOKOBAS MAHEIID - ..ottt ettt ettt e ettt e ettt e e e e ans 33
56.00.488 JIOTOK KOHTEMHEPA YMCTALLMX CPEACTB .« v ettt e e et eeee et e e e ettt ie e e aae e enens 37
70.00.108 MaHxeTa COeAMHEHUS FTa30BOT0 KMAMaHA M TOPEITKM ..o veeeeeee et eeaeeeeaeanaenns 43
07.02.2012 49

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

UHpekc

ApTukyn OnucaHue CTtpaHuua
70.00.256 MaHxeTa coeanHeHmns ropenku n Bo3gyxoeoga RG130 ..............cooiiieiinnn.. 41,43
16.01.965 MexaHN3M OTKPBITUSA BCTABKU MAHETIM .\ v ettt et ee et et e e et e e et e e e e eanenens 31
40.04.000 MOHTAXHOE OCHOBAHME MIIATBI ...t et ettt et et et et e e e e e e e e e e et een 7
40.03.513 MOTOPD BEHTUIATOPA .. .o e et ettt ettt et e e et e et e e et et e e e e et ae e 21
70.00.566 HarHetatenb ropenkn NRG118 ... .. et 39
70.00.580 HarHETATENMBHBIN [UCK ...ttt ettt et et e e e e et e e e e et e et e e e et et aieans 41,43
10.01.076 HaknOHas TalKa MO A . e e e e 23
56.00.451 Hacoc CareControl DPS 35 .. ... .o i s 37
56.00.185 HacoC UP B0 ... et e 37
44.00.207 [ F= Tt o oy F= T o] it =T =T 0 T= ] o ¥- T 13
24.00.223 HVDKHUI KPOHLUTEMH OBEPU .. ettt ettt ettt e ettt et et e e e et ae e eens 27
16.01.511 HDKHAS MEPEKIMAOMHA . ..ottt ittt et e et ettt e e e ettt e ee i aaenns 33
12.01.133 HKHSAS HACTB MOMACTABKU . ..ottt ittt ettt e e et et e et e e e e e e 31
50.01.146 OLHOBEHTUIMBHbBIN ANEKTPOMATHUTHBIN KITAMAH ..ttt e et e e e e e e e eeeeeeeeenns 35
24.00.137 L Tor 0 = =Y o1 R 27
24.00.048 L0 o0 1= 1Y o] - T 27
40.00.098 OTpaxaTenb BHYTPEHHENO OCBELLEHMST .. ... cu et et e e e e et e e e e e e eeeeeeeenns 23
44.00.940 [MaporeHepaTop C TEMMOMBOMALIMEM . ..o vttt et et e e e et e e et e e e et e eeaeaeaenes 13
44.01.135 1 F=T Yo 0o = o xR 13
70.00.301 [MaTPYOOK MOAGUM BOBMYXA - e eeeee e et e e e e e e et e et e e et et et e e e e eeeeeenaas 39
16.01.856 LT oL a1 2= = T 3 =T =Y o 33
4005.0101 MMNacTMKOBAs 3aCTEXKA T45 MM . ... 15
50.00.751 [MnacT1KoBbLIN KOXYX OJ1S1 PYYHOro AyLia C U3OSNTALNOHHOM NMEHTON ...ovvvei e, 33
42.00.112 [InaTa ONCINEA TR T e e e e e e e e i 5
42.00.081 [InaTa MHTEPEICA Al e e e e ettt 5
42.00.160 LT E= w0 = 1= 3 LT 7
54.01.191 1 o VT 35
60.71.022 [MO3MLMOHUPYLLLAAS MAIAHKA TEPMOKEPHE . .o v v e ettt et et e e e et e e e e e eeneeens 45
16.00.146 [1PABasA BOKOBAA MAHEITD . ...t e e et e e e e e e e e e et et e e e et e e e ie e eeeenaes 33
4001.0224 [TPemOXPaHUTEITD B.35X32MM . ...ttt ettt e et e 9
22.00.722 [MPNEMHASA CTOMKA CANBHUKA ..ottt et et e et et et e e e e e e et e e e et et ieeeaeaeaennn 21
10.00.087 [MTPVKUMHAS MAAHKA JATUMKE . ..ot ettt et et e e et e e e e et et et e e e e e e e aeaees 23
50 07.02.2012

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

UHpekc

ApTukyn OnucaHue CTtpaHuua
40.02.965 MpoBogka kabens, knanaH coneHoMAa/CH-Nas0s .........vviviiii i 37
10.00.243 MpocTaBoUHas BTYIKA MAX8 ... . e e et 7
2001.0109 T Y20 F= W = ¥ < 27
50.00.085 MpyXuHa WwTyLepa coeauHEHNSA KATYLUKA PYHHOTO OYLLA .. .vueeee et eenaaeneaenaenen 35
24.01.100 MPYXMHHAS CKODA OBEPHOTO BAMKA . .. et ettt et ete et e et e e e et e e e e e aeaeenans 27
50.00.078 MpamoTouHbIi KnanmaH DW16/DNT 2 ... et 35
56.00.445 Pamka ansa awmka CareControl ... 33
70.00.637 PacnopHast BTYNKa HArHETATENSA TOPEITKM . .. v ettt e e e e e e e et e e e e e ieieneaeaenens 39
50.00.071 Pacnpegenutenb BOAbl TOPUBOHTANBHDBIM . .. .. .eett e e et e i e e et ieieaenn, 35
50.00.070 Pacnpegenutenb BOAbl TOPUSOHTANBHDBIM . .. ..ottt e et e e e e ieaeen 35
74.00.308 Pacnpegenntenb rasonpoBOAa 2X3/4" . ... 39
54.01.141 Pe3nHoBbIN coeanHUTENbHBIN NaTPyOOK BEHTUMALMOHHON TPYObI ... 35
24.00.152 PYKOSATKA LB ...ttt ettt ettt et e e e e et 27
16.02.062 PYKOATKA OUCKA HABOPA . ..o ottt et ettt et ettt e e ettt et et e et aeaees 5
50.00.130 Y 12 01 [ Y 35
22.00.083 O T 18 Q== T = T T o] o - 21
1104.0121 CamosaxunmHas wecturpaHHas ravka M4 ... ... .. 7
10.00.100 CamosaxnmHas WwecturpaHHasi ramka M4 ... . 23
1003.2265 CamMoHape3HOM BMHT C MOTANMHOM FONTOBKOM 4,2X16 ... ..o 33
1004.2160 CamoHape3HOW BUHT C LUECTUIPAHHOM FONTOBKOM 4,2X16 . ... ..ot 33
10.00.992 CaMoHapes3HOW LWEeCTUTPaHHbBIA BUHT B4,2X32 ... .. e 33
2110.1008 CrNMKOHOBASA TPYOKA BTOXZ2MM ...ttt ettt e ettt e e s 15
24.00.171 CUMUKOHOBBIN BYMEP 7MM ..ttt ettt ettt e e e et et aeeas 29
70.00.623 CurnMKOHOBBIN LWIaHr @8XT,6XT10MM ... o 39
70.00.624 CrnmnKoHOBBIN WNaHT @8XT,6X T4 TMM ... . e 39
54.01.117 (07 317 =T T o1 LY 7 23
54.00.357 CIIMBHOM LUAPOBBIN KIMAMAH . . vttt etet et e e et et et ettt e e e et e e e e e e e ananas 35
44.01.241 CIIMBHOM LLUIT@HT MAPOTEHEPATOPA « v et ettt ete et et et et e e e et et et e e e e eeeananas 13
56.00.462 CoegnHntenbHasa MydTa KOHTENHEPA M HACOCA Care .........oviviiiieieieaeaaaennn. 37
50.01.213 COBOMHUTEIBHASA TPYOKA ...ttt ettt et ettt e et ettt ae s 35
2062.0331 CoeanHUTENbHBIN WNaHr BbICOKOTO AaBneHns GS 10 ...t 15
50.00.086 CtonopHas nnaHKa PacnpPeOEUTENA BOLB ... ..utur e een ettt e eeaeeteeaeaenaenens 35
07.02.2012 51

1NAC230 V 50/60Hz



(RATUQNAL)

SelfCooking Center 62 - 6 x 2/1 GastronormG

G62SH1112

UHpekc

ApTukyn OnucaHue CTtpaHuua
1005.2000 CTonopHbIN 3y0uaThIf BUHT MBX8 . ... e 27
10.01.214 CTonOopHbIN 3yB4UaThbI BUHT MSXT0 ... 31, 37
50.00.313 T-00pasHbIN LUTYLEP MOOBOAA BOABI ... ett ettt ettt e e et e e e eaeeeeaenes 35
74.00.724 TennoOOMEHHMK PABOUEIN KAMEPDBI ... ... ee ettt e e e e e e e e e e e e e e eeeeeeaeenns 17
40.04.098 =] 1171 1= 23
40.04.108 Tepmonapa naporeHepaTopa “Bo™ ... ... . i e 13
40.04.096 Tepmonapa pabouen KaMmepbl Bl ... ... 23
40.00.290 TepmMonapa pPerynsaTOPa BIIAKHOCTM . .urtt et ettt eeee et e tee e ettt ieeeae e anananns 23
40.03.348 TPaAHCOPMATOD T L e e e e 9
50.01.050 TpexBeHTUNbHbIN ANEKTPOMArHUTHBIN KIMAMAH . ...ttt e e e e e eaaeaens 35
22.00.914 TPYO@ BOBAYXOBOMA - -« eueene e te e e et et et e ettt ettt et et e e 11
70.00.567 LI 0L = T 0] 0 1= 11 13
56.00.537 Tpy6a ons LUnaHr pacTBOPa Care .........vuiiiiii ittt 37
2067.0050 Tpy6ka BbICOKOro AaBneHns d10mMmM . ... .. e 35, 37
2067.0164 TpyOka Bbicokoro gaBneHnst @10Mm onmMHa 650MM . ... 37
22.00.491 TPYOKA OS1A TEPMOKEPHEA - . ettt et et e et e et e et et e e ettt et et e e e e eaeen e 25
16.01.748 YNnoTHeHne BEHTUNAUMOHHOM TPYObl d=63mm ... .. ... ... 33
20.01.801 1[0 1 T 1 TN =TT o 23
72.00.067 YNAOTHEHNE KPOHLUTEMHA TOPEITKM e ettt e e e et et ettt e e et e et e e e e aeanas 13
54.01.168 YNNOTHEHNE KPBILLKMN KOFTITEKTOP@ ... ettt et ettt et ettt e et ettt e e et e e e e aeees 35
70.00.497 YNAOTHEHNE HATHETATEIS TOPEITKM o v ettt e e e et e e ettt e e e e e e e e e aaeaananns 39
22.00.881 YMIOTHEHME MATPYOKA .ottt ettt et e e et e e et e e e e e et aeees 11
74.00.869 YNnoTHEHNE TENITOOOMEHHUKA Y PABOYEN KAMEPOM ... .vte e e eeeeieaeeeeanennns 17
74.00.296 YNNOTHEHNE TENMOOOMEHHMKA HUMKHEE ...ttt ittt et et e e ee e e e e eaeenn e 17
74.00.290 YNNOTHEHNE 3MEKTPOAA FOPESTKN PABOUEN KAMEPDI ... ve et it eteieieieaeaaeanananns 19
44.00.250 YNNOTHEHNE BMNEKTPOAA 3AKUTAHUST . ..o ettt ettt e et et et et e e e e e e e e aeaens 13
2022.0101 YNNOTHUTENBHOE KOJTBLIO MM ..ttt ittt e et et e et e et et e et e et 35
70.00.261 YNNOTHUTENBHOE KOJbLIO 17X 1.5 L e e e i 43
70.00.262 YANOTHUTENBHOE KOMbLIO 271.89X2.62 ...\ttt e e et 39
22.00.837 YNNoTHUTENBHOE KOMbLO KNanaHa KOHTPOMS BIIAKHOCTU ... euet et eiaeieeenennns 11
10.00.512 YNNOTHUTENBHOE KOMbLO LWAPOBOro KnanaHa 26x3.5 ... 35
10.00.511 YNNoTHUTENBHOE KOMbLO LWAPOBOro KNanaHa 46x3.5 ... ... 35
52 07.02.2012

1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

(RATUQNAL)

G62SH1112

UHpekc

ApTukyn OnucaHue CTtpaHuua
24.00.146 YCTAHOBOUYHASA OCB [ABEPM ...ttt et ettt et e ettt e ettt e ettt e e e e e e e aeeans 29
40.00.091 YCTaHOBOYHAst paMKa CO CTEKIMOM U YIFIOTHEHUSAMM .. .oueeenen e eeeeieaeaeaennannns 23
12.00.319 YCTAHOBOUHBIM KOPOD ...ttt ittt ittt ettt e et et ettt e e 37
2760.1370 DuUKCaTOP BO3AYLLUHON MEPETOPOLKM .ottt et et et e et et e e e e et eeens 25
50.00.296 dukcaTop Kenoba OIS COOPA KOHAEHCATA .. .. .ov ittt e ettt e et et e et ieaeeeeens 33
40.03.780 DUKCATOP KADEIISA TEPMOKEPHE . . .\t tit ittt ettt e e ettt e e e ettt i aae e, 25
24.00.502 L w2y Fo] o I8 1 = 1 - 29
40.03.756 DUKCATOP MIIATBI YIIPABIIEHMS .« o .ottt et et et ettt et e e e e e et e et e e et e ieneaenes 7
40.03.533 DUKCATOP MNATBI YIIPABIIEHUIS . . v ettt ettt e e e et e e e et e e e e e e ae e e eae e eens 7
40.01.579 DUKCATOP MNATBI YIIPABIIEHMIS . . . e ettt e et ee e e e et e e et e e e e e e e e e e eeaee e 9
50.00.156 DUKCATOP PYKOSATKM OYLLI . .ot ee ettt et et e e e et e e et e e e e e et eaeeens 35
1104.0820 DUKCHMPYIOLLASA TAMKA 4,2MM . ..ottt e e et e e e e e et e e e e eeaanns 31, 33
1900.0202 DUNBTP TPYOOM OUMCTKM BOLDBI -« eeeeteeee et et et et et et e e e e et e e e e e aeeees 35
40.01.483 DUMNBTP SIIEKTPOLLYMOB .. .ottt tt et ettt et et ettt e et et e e ettt et et et e e e ae e eaen 9
70.00.495 dnaHey HarHeTaTena ropenkM RG118 ... .. e 39
22.00.721 DnaHeL, CanbHUKA BANa MOTOP@ .« .. vneretetete et aeae et et e e et ee e e e eae e teeaeaeaenens 21
50.00.844 DOPCYHKA YBITAKHEHUS . ..ottt ettt et ettt e e e et e ettt e e et e e e 17
2066.0516 XOMYT B0-8OMM ..ottt e e e e e e 35
2066.0530 XOMYT @16, AMIM L et et e e 15
2066.0205 XOMYT 8-16XIMM SW MM ..o et 35
2066.0521 KOMYT 27 MM ottt ettt et e et e e e e e e et et e e e e e e 37
2066.0518 XOMYT BOMM .. ettt et e et et ettt e e e 13, 37
2066.0519 KOMYT B, BIMM ...ttt ettt ettt ettt et e e e e e 13
2066.0504 XOMYT 40-B0MM . .ottt e et e e e e 13
10.00.873 XOMYT CLIC d=15. 5mMIm . e e 37
10.00.983 XOMYT CLIC d=28mMm e e e e 37
10.00.984 XOMYT CLIC d=27 5mMImM e e e e e 37
2066.0527 Do )Y B 0 3 o 11,15
10.00.605 XOMYT @253 ettt e e e 37
2066.0526 KOMYT BABIMIM L ettt ettt e et et e et e et 13
1308.0162 LamBa A8, ...t e 21
1308.0160 LamBa A8, . .. e 27
07.02.2012 53

1NAC230 V 50/60Hz



SelfCooking Center 62 - 6 x 2/1 GastronormG

(RATUQNAL)

G62SH1112

UHpekc

ApTukyn OnucaHue CTtpaHuua
10.00.744 Laa Ad,3 A e 25
1306.0222 LamBa AB,AXT X1, . 13, 39
1315.0104 Wanba MeAHAa 16X20X 1,5 ...ttt 23
1205.0120 LamBa-TPOBED AD, 3 ..ttt s 13
1206.0120 LIaM0a-TPOBEP AB, 4 ...ttt e 31
3014.0302 LWecTturpaHHas rarika M10 ang aBapuMHOTO TEPMOCTATA ...uveerer et et e eeieaeaeanananns 9
3014.0327 WecturpaHHas ramka M10XT,0 ... . . 9,23
1104.0120 WecturpaHHas ramka M4 ... . 13
10.01.065 WecturpaHHas ramka M5 ... ... 9,17, 21, 39
1105.0120 WecTturpaHHas ramka M5 ... ... 13
1105.0121 LWecturpaHHasa rarika MS ¢ ranbBaHNYECKUM NOKPBITUEM . ...uvenen it aaenenanns 13, 35
10.00.709 WectunrpaHHas ramka M6 C BYPTUKOM ... ..ottt eeaens 13, 21
10.00.612 WectnrpaHHas ramka M16, MIAOCKAN ... o.uiet ettt et et aaeen, 23
1104.0122 LLlecturpaHHast KOMOMHUPOBaHHas ramka M4 ... ... ... 11,13
56.00.540 LnaHr 1 nogaum pacTBOPa Care ......cuiiiii it ettt 37
56.00.482 LLUnaHr 2 nogaum pactBOPa Care . ..........iuiuei et 37
56.00.166 LLInaHr BbICOKOTO OABIEHUSI OUUCTKM ..ottt et it ettt e et et e e et et eeeeieaeenes 37
2112.1006 LLINnaHr Nogaum Napa SOXTIMM ... ...ttt et e e e et e e e ettt 13
22.00.959 LnaHr cToka AN YNPaBREHUS BIIAKHOCTM ... v vttt et et e e e eee e aeeeeaeaeneens 11
40.01.317 OKpaH AaTymka TEMNEPATYPbI CEPALEBUHDBI . ... ettt et et e e e e e e e e eeeeeenns 23
44.01.218 OneKkTpoa 3aXnraHns ropesiki NAPOTEHEPATOPA .. .vvv vt et e e eeeeeae et eeae e anananenns 13
74.00.034 OneKkTpoa 3aXXnraHns ropesikN NAPOTEHEPATOPA .. .vvv et et e eeeeeeae e et aranennn, 19
74.00.873 OneKkTpoAa 3a3eMneHns AN ropenkn Pab. KAMEPDI . .........oeieeieiiaaieiaeaanaann. 19
44.00.253 ONEKTPOA YPOBHSA BOABI 8OMM ...ttt ittt e et 13
40.04.114 ONeKTPONPOBOAKA BHYTPEHHETO OCBELLEHMST ...ttt ettt et eteeaeeeeaeeneeaananaenns 23
54 07.02.2012

1NAC230 V 50/60Hz



(RATIONAL]







Deckblatt Elektrische Dokumentation, Cover sheet electrical Documentation

Die Elektrische Dokumentation besteht aus: 1. diesem Deckblatt, 2. dem Schaltplan und 3. der Legende der elektrischen Bauteile
The electric documentation contains: 1. this cover sheet, 2. the wiring diagram and 3. the bill of material (BOM)

Deckblatt-Nr. 75-21189 Version 1
Front Page No.

Typ / Type SCC WE 62G

Schaltplan 76-00452 Version 1
Wiring diagram

Spannung (SPL) 1NAC230 V 50/60 Hz

Voltage

Legende 78-00751 Version 1
Legend electr. components

Gerateserialnr. G62SH1102 Version 1102
Serial number

Erstellt am Jul 5, 2011 10:26 AM Ersteller SCHD
Created at Creator

Giiltig ab Aug 30, 2011 3:30 PM Anderung

Valid from Modification




0 | 3 | 4 | 5 | 6 | 7 | 8 | 9
T ,Tf ,,,,,,,,,,,,,,,,,,,,,,, __, PE/200
| |
i M1 e ,XMl‘ ‘
oo Cem3l |
i . M1-F2 i{(.i_jifl
; oooo@/
! NN
\ g A
| 1
| » M1:BUS/2.00
‘ » A1:BUS /2.00
| A1 |
| &7 A2
| A2-F1 [] A2-F2 []
| - wq AT AT e, XS Xe_ ..
i L ! x21 e 2}}, };h b1 ks h2 46 i3l N }#4 i3 i2 &5 b1 ho! }h b2 k4 i3
i W31Z & & 2 z 2 = 2 = 2 2 GWSO% 2 8 2 S @ = 2
i Jxst____. B A A N N £ S.C RN AR P, (<X I 2| x4 _ | M4l fxme | .
- 1 Is\#{z} 1 2! 11 2011 2l w3 a2 1! 2 w1 a1 20 M1 W2 2!
g IJ- - -F - - LE - - - -] —a L] - | S S | —a IJe = = F = = — — [y -1 LE - - - -] - [ R T e - =
& 2 g | C1
i o — B Y1 Y2 Y3 M12 Y4 M4
1 A1 At A1 A1
‘ 3o a2 @’D CHX @’D
Kt s | 02 A2 A2 A2 A2
N/o\;ﬂk; i 11
| F4Ze N L1 — E— M6
2
5 2 | : G| > PE_L
i W17_|__ —
 Fle3a o 14K113 K113/ 2,00 ; ,,,,,,,,,
1 I KT e » R : XMSLTJ 777777 T 2,
‘ F263A "2 M5 NFE/”
| —:Y) » K1:A2/3.00
il s k= 1-~2 00
. L"—T ! 3-—~4 .00
. I 13— 14.04
! 74|—T |
Wl
1 I 1z1
B
o
=) 9,
o o E
Erstellt von SCHD
76-00452 MODUL 1 SCC WE 61/62/101/102G Created by
Datum
Leistung/Power Date 1 102om
Version 1 1NAC230 V 50/60 HZ Blatt 1
Page




0 | 1

3.00/K1:13 _, BN
/K1:A2 _, BU

1.08 / PE _ YEIGN

frecccccccae=
1 Option Sensor Abgashaube !

1Option sensor exhaust hood
]

: F23 W33XK1 E
1.05/K1:13 +:ﬂg®\ BU‘ 1 :
' PE_L |
1.08 / A1:BUS
1.08 / M1:BUS
Erstellt von
76-00452 MODUL 2 SCC WE 61/62/101/102G Crealed by Serp
Datum
H 1 /H t ate 12.10.2011
orsr 1 elzinginieating 1NAC230 V 50/60 Hz = .
Page




0 | 1 | 2 | 3 | | 5 | 6 | 7 | 8 | 0
P1 S2 M7 S11
A P N [ HALL [ [
IN_Signal_GND = —1 Yé/j 312? @ e S3 H1 T2
o |1 T < F ® T
Py ¥
] w11
s a5 8y S IERE T
A2 [ N N N S S R L - NSRS U S N I A1
| ! | | 1 ! | : | | | | | : | :
A N RO SO AT K ST R 5 5.2 5 & SO o SO AT GO SR LB S A
A2-F3 [] X1 x12 X11 X25 X15 x27 x13 X8
BALLL e e e e e e e e e e e
] Option Thermoelement Sousvide |
xasf ] X R B X . o ! Option Thermocouple Sousvide I X0 ‘
RPN 2 g J?bZ v }?{;ff:ﬁz 1 }?l?fz A\HA@ p7 ?\6 v Wa ®s F2 w4 : AT\ X2\Rr PRI : XYYy
[ O A R [ IR LA R I L __ [ELEL S S B ‘ L e s e S B L ' ‘ tro-of-o- A,,,,,,J 1 A A O B R Y
EEE HE - =l 55 g w8 & 3 g ¢ 1 gwa !
| Vo ol dhahall b
‘ [ T
1 : 1 XZ,']E 7 6! 5! 4! 3!2 1: :
‘ ' R S
] ]
N | Vo :
1 A . o 1 K/ .
— —_ — — = ] |
' —\/+ =\
LA e A AT e e Y
B1 B2 B4 B5 B3 ' B7 , S6
lecccccccecce o oo ]
200/K1:13 5 BN |
1.05/K1:A2 _y BY
Erstellt von SCHD
76-00452 MODUL 3 SCC WE 61/62/101/102G Created by
Sensoren/Sensors oato 12102011
Version 1 1NAC230 V 50/60 HZ Blatt 3
Page




Positionsliste
Bill of material

Name Artikelnr. Artikelbezeichnung Module
Name Item number Item description Modul
-Al 42.00.081 Interface Platine Interface PCB Modul 1
-A2 42.00.160 CPU SCC WE CPU SCC WE Modul 1
-A2-F1/F2 3019.0120 Sicherung A2 - 2AT Fuse A2 - 2AT Modul 1
-A2-F3 3019.0312 Sicherung A2 - 8AT Fuse A2 - 8AT Modul 3
-A5 74.00.883 Feuerungsautomat Brenner 61-202 Ignition box Modul 2
-B1 40.04.096 Thermoelement Garraum Thermocouple interior cabinet Modul 3
-B2 54.01.169 Thermoelement Abléschung Thermocouple quenching Modul 3
-B3 40.04.098 Thermoelement Kerntemperatur Thermocouple core sensor Modul 3
-B4 40.00.290 Thermoelement Feuchte Thermocouple humidity Modul 3
-B5 40.04.108 Thermoelement Dampfgenerator Thermocouple steam generator Modul 3
-F1/F2 4001.0224 Steuersicherung Control fuse Modul 1
-F3 40.02.515 Sicherheitstemperaturbegrenzer Gas:157°C/314° | Safety thermostat steam generator Gas: 157°C/ Modul 1
F Elek.:183°C/360°F 314°F Elec.: 183°C/360°F
-F4 40.01.482 Sicherheitstemperaturbegrenzer 360°C/680°F Safety thermostat interior cabinet 360°C/680°F Modul 1
-G1 40.03.257 Gleichrichter Kuhlltfter DC converter cooling fan Modul 1
-H1 3024.0201 Garraumbeleuchtung Interior cabinet light Modul 3
-K1 40.03.761 Hauptschiitz Main contactor Modul 1
-M1 40.03.513 Luftermotor Fan motor Modul 1
-M12 56.00.451 Pumpe Pflegemittel Care pump Modul 1
-M4 44.00.207 SC-Pumpe SC-pump Modul 1
-M5 40.03.428 Kahllafter Cooling fan Modul 1
-M6 56.00.185 CleanJet Pumpe SCC WE Cleanlet pump SCC WE Modul 1
-M7 54.00.357 Kugelhahn Ablauf Drain valve Modul 3
Anderungsdatum 30.08.2011 Name SCC WE 62G Dokument-Nr. 78-00751
Erzeuger SCHD Spannung 1NAC230 V 50/60 Hz Version 1

Seite 1 von 3




Positionsliste
Bill of material

Name Artikelnr. Artikelbezeichnung Module
Name Item number Item description Modul
-M8 70.00.566 Gasgeblase HL Gas blower hot air Modul 2
-M9 70.00.566 Gasgeblase DG Gas blower steam Modul 2
-P1 3017.1011 Differenzdrucksensor Differential pressure sensor Modul 3
-S1 TEXT Ein/Aus Schalter ON/OFF switch Modul 1
-S11 50.01.523 CDS-Sensor CDS-sensor Modul 3
-S2 44.00.253 Niveauelektrode Water level electrode Modul 3
-S3 40.00.335 Tlrkontaktschalter Door contact switch Modul 3
-S6 40.00.404 Zentrales Einstellrad Central dial Modul 3
-T1 40.03.348 Steuertrafo Control transformer Modul 3
-T1-F1 3019.0120 Sicherung Steuertrafo T1 2AT Fuse control transformer T1 2AT Modul 3
-T1-F2 3019.0126 Sicherung Steuertrafo T1 5AT Fuse control transformer T1 5AT Modul 3
-T2 40.04.034 SCC WE: Lautsprecher / CMP: Alarmsummer SCC WE: Speaker / CMP: Buzzer Modul 3
-WO0 40.01.596 Anschlusskabel Cable: power supply Modul 1
-Wi11 40.04.114 Kabel: Garraumbeleuchtung Cable: interior cabinet light Modul 3
-W17 40.03.452 Kabel: Steuerstamm Cable: control harness Modul 1
-W30 40.02.965 Kabel: Adapterkabel Pumpe Pflegemittel 61-102 Cable: adapter care pump 61-102 Modul 1
-W31 40.03.467 Kabel: Ein/Aus Schalter Cable: ON/OFF switch Modul 1
-Y1/Y3/Y4 50.01.050 Y1: Magnetventil Fillen / SCC WE Y3: Y1: Solenoid valve filling / SCC WE Y3: Modul 1
Beschwadung / Y4: Pflegemittel moistening / Y4: care
-Y11 70.00.576 Gasventil D Gas valve steam Modul 2
-Y12/Y13 70.00.577 Y12: Gasventil HL1 / Y13: Gasventil HL2 201/ Y12: Gas valve hot air / Y13: Gas valve hot air Modul 2
202G (bottom)
-Y2 50.01.146 Magnetventil Abléschung Solenoid valve quenching Modul 1
Anderungsdatum 30.08.2011 Name SCC WE 62G Dokument-Nr. 78-00751
Erzeuger SCHD Spannung 1NAC230 V 50/60 Hz Version 1

Seite

2 von 3




Positionsliste

Bill of material

Name Artikelnr. Artikelbezeichnung Module
Name Item number Item description Modul
-Y5 22.00.725 Klimaventil Clima valve Modul 3
-Z1 40.01.483 Entstorfilter/Varistor Electronic noise filter Modul 1
Anderungsdatum 30.08.2011 Name SCC WE 62G Dokument-Nr. 78-00751
Erzeuger SCHD Spannung 1NAC230 V 50/60 Hz Version 1

Seite 3 von 3



